 EQ \b(3x+0,4)\s\up8(2)+\b(4x+2)\s\up8(2)-\b(5x+\f(7;3))\s\up8(2)=1+\f(1;4-\f(31;64)) 
 EQ \b(3x+0,4)\s\up8(2)+\b(4x+2)\s\up8(2)-\b(5x+\f(7;3))\s\up8(2)=\f(289;225) 
 EQ \b(3x+0,4)\s\up8(2)+\b(4x+2)\s\up8(2)-\b(5x+\f(7;3))\s\up8(2)-\f(289;225)=0 
 EQ \b(9x\s\up8(2)+2,4x+0,16)+\b(16x\s\up8(2)+16x+4)-\b(25x\s\up8(2)+\f(70;3)x+\f(49;9))-\f(289;225)=0 
 EQ \b(9x\s\up8(2)+2,4x+0,16+16x\s\up8(2)+16x+4-25x\s\up8(2)-\f(70;3)x-\f(49;9))-\f(289;225)=0 
 EQ \b(-\f(74;15)x-\f(289;225))-\f(289;225)=0 
 EQ \f(\b(-\f(74;15)x-\f(289;225))225;225)-\f(289;225)=0 
 EQ \f(\b(-\f(74;15)x-\f(289;225))225-289;225)=0 
 EQ \f(\b(-1110x-289)-289;225)=0 
 EQ \f(-1110x-289-289;225)=0 
 EQ -\f(1110x+578;225)=0 
 EQ -\f(2\b(555x+289);225)=0 
 EQ \f(2\b(555x+289);225)=0 
Дробь обращается в нуль тогда, когда числитель равен нулю.

 EQ 555x+289=0 
 EQ 555x=-289 
 EQ x=\b(-289):555 
 EQ x=-\f(289;555) 
